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001 LY 7 9,331 1,333
57 L 7 9,331 1,333
002.5%% 175 423414 2,420
2548 31 100,062 3,228
57FE L 144 323,352 2,246
003£LAC 727 1,006,469 1,384
087 I 9 2,754 306
2548 704 954,889 1,356
26 51D 14 48,826 3,488
004F Y 58 79,487 1,370
215 58 79,487 1,370
005&%H K 3,091 3,190,881 1,032
224 40 95,039 2,376
231 E 2,246 1,962,468 874
26 &R 0 2,290
51 KRR 20 32,400 1,620
54F03x 1L 683 997,164 1,460
69 = % 30 64,800 2,160
10ERE 72 36,720 510
0075%F 6,323 20,387,002 3,224
138 1,637 5,279,256 3,225
148%)1| 160 473,040 2,957
215%H 20 56,160 2,808
2240 665 2,448,900 3,683
26 T &R 226 302,582 1,339
51 KR 3,326 10,854,073 3,263
52E&E 60 232,006 3,867
57 1L 9 48,708 5,412
63540 220 692,277 3,147
010ZF D KA 3,993 3,681,206 922
otitiEE 890 736,939 828
087k 3 1,347 730,944 543
218%E 510 139,017 273
2548 914 1,022,476 1,119
26 TR 54 69,723 1,291
5855 83 307,356 3,703
65168 11 39,658 3,605
66 KI5 4 2,052 513
67HE 180 633,041 3,517
011LE#A 13,594 6,323,325 465
02F#H 40 21,600 540
224 1,200 629,532 525
24=% 1,726 1,180,548 684

26D 5,672 559,494 99



555 HY 704 965,542 1,372
56 518 3,510 2,524,014 719
59110 720 410,940 571
67HE 22 31,655 1,439
015N B 56 32,400 579
10F=E 48 25,920 540
2=F 8 6,480 810
28024 35,133,515 1,254




